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1 Introduction

11 Objectives

= E=AE 2016 A=Lfstulol

HE Belol dsMM=Z CiAtelst
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Coffee Machine System= unittt@2 2SI Unit testinget 21t A O0|LCt

1.2 References

T4-2016.CMS.SRA-2.1

T4-2016.CMS.SDS-2.1

T4-2016.CMS.UTP-1.0

2 Unit test case specification

2.1  Test case specification identifier

Identifier Feature Pass / Fail Criteria
Main suite
CMS_UTCO001 HES Y8 21 F=Eot0 ¥

=0 A HMoStot HMoE =+

s b= 20

Coffee MachineO| HEA|Et

DStatusE XZsiLC}.

It 0
2
mjo

CMS_UTC001_001

HW =0

OtF 2= HOLIX| BZ

CMS_UTC001_002

HW = ReservBtn

Status = “Reserv” ->
accountData.txt HZA(B %d %d
0)->

sleep(1), B_init Ht= ->

status?} ready?7t £|H =OtZ

CMS_UTC001_003

HW = ExtractBtn

Status = "Account” ->
accountData.txt HZA(1 %d %d
time(NULL))->

status”Z} ready”7t £|H =02

CMS_UTC001_004

HW = CleanBtn

Status = "Account” ->
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accountData.txt HZE(2 %d %d
time(NULL))->
status?t ready?l &M =02

CMS_UTC001_005

HW = ConcerBtn , keyNUM = %d

conlv = keyNUM

unit 2 (& 23 )

CMS_UTC001_006 | HW = tem_Btn unit A8l (2 43 )

CMS_UTC001_007 | HW = Power_Btn Unit A&l ( BR )

CMS_UTC002 conlv = n coffeeSetting.con = n*100
settingFile.txt -> "n ?"

CMS_UTCO003 coffeeSetting.tem == (or 1) coffeeSetting.tem = 1 (or 0),
settingFile.txt -> "? 1"

CMS_UTC004 KeyNUM TZMNA B=

CMS_UTCO005 KeyNUM.txt = %d KeyNUM.txt = 0

Order suite

CMS_UTC006 MZ& account datal| A ZEHO|

account dataQ| mode0j|

ReservPriorityQE ZXZAfSt= unit

Ct. ModeZ} reservedd AL 7|
—

2ol X7} YRS WLk

or mjo

CMS_UTC006_001 | acData.mode =1 Unit Aali( /& 55§ )
CMS_UTC006_002 | acData.mode = 2 Unit Alali( 7 AHH| )
CMS_UTC006_003 | acData.mode = 3, KeyNUM -> 1 -> mode | ZE, A|Zt HQ H0o|H REo=Z
-> DDHHMM CiA| €3 23
Moz LHEH unit Al 7
S5 )
CMS_UTC006_004 | acData.mode = 3, KeyNUM -> 2 AMR| Hz HQ HIOH RZZ
delNUM CiA] €3 23

2
EER-E LT Te
A )

CMS_UTC007 acData.mode = %d reservPriorityQOj| acData HE7}
acData.con = %d J|IBE L E FT}
acData.tem = %d
acData.time = %d

CMS_UTC008 delNum = n reservPriorityQO Al nHER] L&

74

CMS_UTC009 LocalTime = DDHHMM acData.time = UnixS

Display suite

CMS_UTCO010 DStatus.txt -> "%d" Enum displayE 7|&2 =2 &2

EESSRIE)
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unit Al
CMS_UTCO011 unit I= Reserve mode YAl =2 (SRA
(S
CMS_UTC012 unit = Setting mode YAl =2 (SRA
&)
CMS_UTC013 unit = Current info mode Al =&
(SRA #1)
Machine suite
CMS_UTC014 ReservPriorityQQo| 7t& €40 /U= EE
91 Of LEE Lo & AlZHO] E[H
LEof YEE SetDd 7|8 = O FEO
[2rA 82 unitg AdSHH Coffee
Machine& X 0{3tC}.
CMS_UTC014_001 | reservListtxt -> IH LE 7|5 A == AR
CMS_UTC014 002 | reservlisttxt -> &X| =E 7|2 (HA) Water >=500 unit &3 (HA)
water = %d Water < 500 unit &% (84 =)
CMS_UTC014_003 | reservlist.txt -> $Xf E 7|& (&) MEE ZASIO Atsto] Ste=
water = %d unit A

coffeeBean = %d
filterHolder.dust = %d
filterHolder.trash = %d

cupExsitence = %d

(SRAQ| STD #1.)

CMS_UTCO015 LZE HAE AYsiCt 10z 7]
Water -= 500
CMS_UTCO16 w5 Jtge Ayt 10% 7]
CMS_UTCO17 AT 22 M 5% o7
coffeeBean -= 10
CMS_UTC018 Err_msg = "statements” Beep 2
Err_msg.txt -> “statements”
CMS_UTC019 Ao == A&isIC) HI == = Filter | 10X L 7|
Holder SensorQ| trash AQKX|E 12 22l | Water -= SetD.con
Ct. FilterHoldertrash = 1
CMS_UTC020 Unit =& ReservPriorityQ 7t& €0 U=

c XA

Sensor suite

CMS_UTCO021

waterSensor.txt -> “%d"

Water.txt -> "%d”

CMS_UTC022

filterHolderSensor.txt ->"%d %d"

filterHolder.txt ->"%d %d"

EESSRIE)
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CMS_UTCO023 coffeeBeanSensor.txt ->"%d"

coffeeBean.txt -> "%d”"

CMS_UTC024 cupExistenceSensor.txt ->"%d"

cupExistence.txt ->"%d"

2.2  Test items

2.3 Input specifications
24 Output specifications
3 Environmental needs
4 Unit test summary report

4.1 Test summary report identifier

Identifier Feature
Main suite
CMS_UTC001 HES 28 1 FEI0 ¢
5 22 HEO LA Hofot
Ch Mo = A= 7Is2 t=
ot Zof
1. 7Hue| 485 BHEst=

units AT}

2. Coffee Machine7} %t

S22 account datadj|
INESEls S

Coffee Machine0| HA|EH 3}

2 Z7HdSl= DStatusE& ==&t

C}.

o
=
o

-

—

CMS_UTC001_001 | HW =0

OtF &Lk O{LIX[ B | PASSED

o
=

CMS_UTC001_002 | HW = ReservBtn

Status = “Reserv” -> PASSED
accountData.txt #HZ
(3 %d %d 0)->

sleep(l), B_init HtE ->
status?} ready’t E|H

=0z

CMS_UTC001_003 | HW = ExtractBtn

Status = "Account” -> PASSED
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accountData.txt H4
(1 %d %d time(NULL))->

status?7t ready’} E|H
=0t
CMS_UTC001_004 | HW = CleanBtn Status = “Account” -> PASSED
accountData.txt Ha
(2 %d %d time(NULL))->
status7t ready’/t E|H
=0tz
CMS_UTC001_005 | HW = ConcerBtn , keyNUM | conLv = keyNUM PASSED
= %d unit 2 (5= 273 )
CMS_UTC001_006 | HW = tem_Btn unit A (2= 47 ) | PASSED
CMS_UTC001_007 | HW = Power_Btn Unit A&l ( &) PASSED
CMS_UTC002 conlv = n coffeeSetting.con = | PASSED
n*100
settingFile.txt -> "n ?"
CMS_UTCO003 coffeeSetting.tem == (or 1) coffeeSettingtem = 1 | PASSED
(or 0),
settingFile.txt -> "? 1"
CMS_UTC004 KeyNUM DTZMNA B2 PASSED
CMS_UTCO005 KeyNUM.txt = %d KeyNUM.txt = 0 PASSED
Order suite
CMS_UTC006 MZEE account datal| X ZO0|
ZX| =™, account data®| mode
O C2kA ReservPriorityQE =
ZtSt= unitE ASiSHCE Mode
7t reserved ER Jls S
o F7h YHES f=Ct
CMS_UTC006_001 | acData.mode =1 Unit Mall( 7 S& ) PASSED
CMS_UTC006_002 | acData.mode = 2 Unit AMali( 7 AR ) PASSED
CMS_UTC006_003 | acData.mode = 3, KeyNUM -> | ZE  A|Zt HQ| HFO|H | PASSED
1 -> mode -> DDHHMM SO CHA| 9 QF
Moz T unit A
(R 52)
CMS_UTC006_004 | acData.mode = 3, KeyNUM -> | AX| HHs H=HQ| HFO|H | PASSED

2 -> deINUM

2Z2 ) 9 a7
M2 Y2iE|R unit A
BOR A )
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CMS_UTC007 acData.mode = %d reservPriorityQ0 acData | PASSED
acData.con = %d HEI 7|BE LE F
acData.tem = %d 7}
acData.time = %d
CMS_UTC008 delNum = n reservPriorityQO|A] ntH | PASSED
M == XA
CMS_UTCO009 LocalTime = DDHHMM acData.time = UnixS PASSED
Display suite PASSED
CMS_UTCO010 DStatus.txt -> “%d" Enum displayE 7|&2 | PASSED
2 UE2 unit A
CMS_UTCO011 unit I= Reserve mode Al = | PASSED
= (SRA &)
CMS_UTCO012 unit I= Setting mode ¥4l E& | PASSED
(SRA #t1)
CMS_UTCO013 unit IE Current info mode 4l | PASSED
=3 (SRA #1)
Machine suite
CMS_UTCO014 ReservPriorityQQ2| 7t Q0 U
= ZES 91 0 LEF £
SjOF B AlZHO| E|B o
25 SetD0f| 7|18 = 1 FHEO
Metd oS unite A
Coffee Machineg X O{StC}H
CMS_UTC014_ 001 | reservListtxt -> A+ LE 7| | 2tH =E AR PASSED
=
CMS_UTC014_002 | reservlisttxt -> ®X| L=E= 7| | Water >=500 unit A3 | PASSED
g (EHa) (E)
water = %d Water < 500 unit A3l
(FA 2)
CMS_UTC014_003 | reservlisttxt -> SXf == 7|2 | MEE ARSI Ar=hof | PASSED
&F2) %= unit A
water = %d (SRAQ| STD #1.)
coffeeBean = %d
filterHolder.dust = %d
filterHolder.trash = %d
cupExsitence = %d
CMS_UTCO017 = BME AsiC), 5% Cj7| PASSED

coffeeBean -= 10
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CMS_UTC018 Err_msg = "statements” Beep 22 PASSED
Err_msg.txt ->
“statements”
CMS_UTCO019 AL &S AMAMSICH 7O F | 10X Cf7] PASSED
= % Filter Holder SensorQ| | Water -= SetD.con
trash AQX|E 12 S&2IC} FilterHoldertrash = 1
CMS_UTC020 Unit & ReservPriorityQ 7% @t | PASSED
o e =5 HA
Sensor suite
CMS_UTC021 waterSensor.txt -> “%d" Water.txt -> “"%d"” PASSED
CMS_UTC022 filterHolderSensor.txt ->"%d %d" | filterHolder.txt - | PASSED
>"%d %d"
CMS_UTCO023 coffeeBeanSensor.txt ->"%d" coffeeBean.txt -> “%d" PASSED
CMS_UTC024 cupExistenceSensor.txt ->"%d" cupExistence.txt ->"%d" | PASSED

4.2  Evaluation
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